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;. TEATCHhehRY (TEHTcHe - )

Writing Skills

;TGRSR (TR TR
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Applied Grammar

;. Ufed-3raeiyy (Ufed-Taeiy )

Reading Comprehension

Instructions :
(i) ST o797 T GUST: Gi7 |
59 Jo7-97 H Gk @UE &/

The question paper has four sections.

(i) FAF GUSH 1T IV THIEHT T FHI SFGHIT |
T GUE 3 I T &1 T8 W FHT & fora &7 |

The answers to each section must be written at one place.

(iii)  FAGE] FIATFARY STFFTHT TG |

FeT-T7 F SFIR Fo7-G&IT 3797 & fora g1 |

15 AT

15 HA=T:

30 AT

30 =T

Write the question number according to the question paper.
(iv) T I IFTT TEFAT TG |
Ty} Fv1 % I GEhd 7 17167 /|

Answer all the questions in Sanskrit.



que: ‘& (Section A)
AUTSATIT— AT (STATSATIT— TSI )
Unseen Reading Comprehension 15 3T

1.  SAIfcRaay AT=s8 TScal TaauTH HEah 3L :
frfaiRad s1g=ee ! TRt f3U TU Te1 o %ehd H 3T SITIT

Read the following passage and answer the given questions in

Sanskrit :

Ife 7 vE=q e afk o Halfo i gw ey Wegd: | 7 fawy
TGS 1 AT < ST SO A 9 | 37d: F9: TOAaRE STd=aH,

SMETIHRY | SISl A AU SHMT A ald | See SEam
AE: AU qW WA UF wEfd | S HEel WTETcHeh R v |
SAVTATCHR-ehd ST T Tad W U9 ITgHafd | 37d TF 3IFaH, -
T T ST T s |

gt
[ U 39 | 1x2=2
Teh 2 § IR ST |

Answer in one word.
() SR o fhy Sy ?
(i) T TIAAREIIN TvIhy AT ?
. quiameRH 3 | 2x2=4
9ol TRy | I SIS |

Answer in a complete sentence.
(i) & Sfad gd= HEH Tg9afd ?
(i)  haT S WSTOT IATO] TR g IRTH: 7

52/1 3 [P.T.O.
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[I. Yedfaeredsy: 3faaq s fuean forad :
faw e foeredt # @ 3foa S ge foflau -

Choose and write the appropriate answer from the given options :

(%) ‘wragw:’ 3 foRamaeed fob shue TRl Sy ?

(i) i (i) T

(iii) =9, (iv) srEffor |
(@) ‘er¥an 3fd yewd o wafedg e ey ?

() I (i) ar

(iii) qfe (iv) |
(M) oIy’ gfodes foh foRamuen ST T ¢

() ST (i) g

(iii) # & (iv) waf |
(F) TR quT] 3 HeATHIE e SYE 7

(i) o= (i) R

(i) S (iv) SfEas: |

IV. 3T =08 d FYfad Y6 T&hd fofed |
T =S o foIT 3ugra Siiveh weapd A fetfle |

Write the appropriate title for this passage in Sanskrit.

FATARGT IeATeh ITSedT TEGTITH FEha I :
freferRad et =t Teeht fou TTu gt & 3T Teeha 1 i

Read the following shloka and answer the given questions in Sanskrit :

Toren gafa foma fomraimg @ ameramy |
UTACATg, ST €A1g 9% aa: T ||
AT
I Th9ed 39 |

T I8 § I AT |

Answer in one word.

(i)  UEd: SH: TR T ?

Yyx4=2

Ix1=1
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I YUiETRA 39 | 1x2=2

9ol TR | I S |

Answer in a complete sentence.
(i) foren foh garfa ?
(i) TegEdTaH foh M ?
[I. Yedfaeredsy: 3faaq 3w fuean forad : 1x2=2
fau U foreredi # @ 3o I e fafau :

Choose and write the appropriate answer from the given options :

(%) veioh oW Scaed Toh qATIUE ST 7
(i) forrm
(i) &H
(iil) gEHq
(iv) Toamq |
(@) ‘Terfa’ 3fd foramdea {5 sdud el S ?
O guq
(i1) 9T,
(iii) ferem
(iv) &I
wue: ‘@ (Section B)

TATCHH AT (FATHS —hTd)
Writing Skills 15 A

i wfa sTenforiaad o= FesmaeasmEaaT R 3H: formaa 15x10=5
ot =t fore U frefrftad o= ot wes[ W 14U 77T vTeat ohl Tt € U1 R
El}f:%r@ﬁz

Complete the following letter written to your friend, with the help of the

words given in the box and rewrite the same :

5 [P.T.O.



(1)

Trafim o !
(iii)
319 9 PO | W AU T FIC 36 I | T@Ewe |
. (iv)
ooy Tesraara YUl fiTfery ey = | AT
(v)
ER RSO STATEH FH | O THET: AHATICh:
(vi) (vii)
IVaq | 318 g fagweres. T ShadT | TEH 33T
(vii)
el TR T = | 79 TRregert: 1y oy ferrf= | e o1fg
(ix) (x)
Wﬂlx """" T g | ot e Y JorHTSSiTet e |
wad: e,
JUTd: |
RSNl
FLIYUR, 3TEHTeRY, JeTt, Jfd, deU«ed:,
AT, TR, HeeY, AT, TEhd |

4. Y o9 o AT AT TEANEHT TSR IS TR HEhdH

forEa 2x5=10

e e 7T fost 19Ul Aes | 3T T veal it GERIdl ¥ ute 9%hd A
T shifere

Describe the following picture in five Sanskrit sentences with the help of

the words given in the box below :

52/1 6



I, grafd, fe:, gaf<, T, T, &, 3,
M, <, SFeelehl:, Y, T |

AT (OR)

Hos[uTIEavTeal derRad ffafaay fow, s1feshcr usag axhdary

TehY o84 fofed :

Hos[T H foU 71 vreat shi wErat 9 fefifed fawa W ute @%hd arei o
Uch 313@@3 %I'F@E :
Write a paragraph in five Sanskrit sentences on the following topic with

the help of the words given in the box below :

(%3 ﬁ g‘lﬁ:”
TS

T, Scld:, Je:, FANH, TS, FEd, T,
S, T, ATETETERE, W, S, 99T, ST |

52/1 7 [P.T.O.



@ue: ‘T (Section C)
ATTFFTATHIT (SFTTIHT TR
Applied Grammar 30 AT

5.  AYifaRaqarsy Wiisauey af-d afo=sg a1 Fean foed : 1x4=4

fefaRaa st 1 Waiferd yet # = sterat afifo=ae ot fafay

Write the underlined words of the following sentences after joining or
disjoining Sandhis :

(i) IR AT AT YUHTT: |

(ii) B + =

(iil) TTUSATES o TS & HeT Tegd f2 |

(iv) 9ad + HIRY eaT AT PRI il o7 |

6.  SAUTARGAATRIY TWTEAIGHT T o8 a1 Yeqioshedsd: foear fo@d : 1x5=5
frefafaa el ® T@iferd el o1 gHE Agen forg fou e foskedt o @
h{ faTia ;

Choose and write the correct compounded or expounded forms of the

underlined words in the following sentences :
(%) “Tuepepreht SeEiid I
(i) o = e = (i) Toe: T w1h: =
(iii) T9eh: = =hTeh: qT: TUTEN: (iv) hTept: Tueh: = |
(@) ‘fomen eft: 7 9: Yad %ol el SAUFd Wahd |
() forgesh: (ii) fompaef:
(iii) Torgiedt: (iv) ifamer|
(M) T I IAS HeATH WIafe |

(i) s=od afeaq (i) Too™ FHfdH

(iii) T=B0: FHfdshe (iv) TTBMT: 9T |
(E[) ‘aﬁwa:ﬁw:aﬁwﬁl’

() oxuad (i) wE: gfeor:

(iif) orataoT: (iv) dfeqas: |

52/1 8
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(¥)

AGTANGAITRY  [WEAUEHT FHfaT=ll Ty fawsy a1 3feaq W

‘lﬂ‘c@a: 1o Torama T=afa |’
() ddggIa
(iii) g dia afe a:

o o o
[dencq+: [Hcdl [dddd @

Freafeftaa et # TeErfsd el o Jehiaucaal i Sgeh AT Y hich Ied

ST Torshedi § € gt Tt

Write the underlined words of the following sentences after joining or

disjoining suffixes to the roots or words, selecting the correct answer

from the options given below :

()

(i) o gU IE 9
(iv) flagg T a: |

I 28 + ¥1q 39 TEvSsaTe: Af: |

(i) <&

(i) <&~

(iii) =&a: |

‘BT STforeRT T Afe |
(i) W +HH

(i) W + W

(iii) HaHH + a |

T g + S ferererd s |
i o=

(i) oft

(iii) g
“aftyres Tee ot T ST 7
(i) #Eq+d

(i) ¥HE +dHq

(iii) 7E + o |

‘TeFT @ + ] 3R Ud 3ugdfd |

() T
(i) @I
(iii) 7@ |

1x5=5

[P.T.O.



8. FIfTRadaTRy Freer T Hos[m e 3fd: Tye: i fofed @ 1x5=5
frefeRaa Al  foeh TIRT o1 9 oo & e T Sf e w6 % g
Fifse :

Fill in the blanks in the following sentences with appropriate

indeclinable words given in the box :

() @ FROTET i |
(i) T UehT T4l JaRfd |
(iii) & @R D 7
(iv) 378 & Y3y |
(v) @S Sa%d: JHfd ?

TS

gryfd, v4:, fmedy, e, afz: |
9. IFudHEANT o arT IEd | 1%5=5

3o TET U8 IR ara qut shifsru|

Choose the correct numerical words and complete the sentences.

() UM ™ gan af< | (Fff, 3=, faa:)

(ii) =5: TH: T~ | (THH, T, TH:)

(i) SFT: T e gwatd | (g4, g, 1)

(iv) — T3 oW g i | (IaE:, FER:, FeaTi)
) aTfetes U3d: | (R, T3, 3)

10. SAfiRgdaTRY @Tsaued SRISHAR | J&d fasheds: 3fuaq 3w e
ST TNe fora: 1x6=6
frefaRaa ameit 4 TErfehd 98 o1 © | feu g forereai # @ 3fom 3w ge
Y, TS I FEITYT e faRaw :

52/1 10



11.

52/1

Choose the correct answer from the given options and correct the

underlined incorrect words in the following sentences :

(%)

EEI SNE TfEd |
() St
(iii) ST,

v 7a e o1 |

(i) e
(iii) T

3T a1 gfessmH: |

(i) ufesy
ERIEICE

%m@ﬂm:&@ |
(i) 3R

(iif) 37

T IR AT HE TS |

() T
(iii) T

Tl'lﬁﬁﬂ:"ﬁﬁ'lﬁ@|

() Ty
(iii) TR

(i) S
(iv) S |

(i) T
(iv) Tos |

(i) ufesafa
(iv) ufewy |

(i) 3T
(iv) 3TPHed™ |

(i) w7
(iv) #I=w |

(i) Ttk
(iv) T |

©us: ¥ (Section D)

ufga—sraataay (ufsa—smaataT)

Reading Comprehension

AR TSN, U=l AT = ufdeal Yad R ST T forad :

30 AZT:

frefafaa e, 9@ SR e S Ugw fRU T v % 3w a%pd °

EISIE

[P.T.O.



Read the following prose, poetry and drama passage and answer the

given questions in Sanskrit :

(31) T
“HIAISEH | 38 W I | Tvaea STerisey | herny TRy S
Y AU | | Fehad, IREAHM: S0 Ja0H Wioasgy = Sfiegwor:
3EHd A&l SETd: 3oow: foehaey Joae 91 | 38 ST, g 9 SR
foreftord <1 weag weier fommmeIss |e fshamshand geanfy |’
AT

[ UehUed 39d | 1
Teh 37 | 3w ST |

Answer in one word.

9 g Toh Siera ?

. YUiameRH 3T | 1

9ol TR | I Sl

Answer in a complete sentence.
rat: Toh ot ?

1. foereds: 3faaq 3 e foraa 1x2=2
foehedi ® @ 3fua 3T g fafaw

Choose and write the correct answer from the given options :

(%) wda faemmiss’ o ‘31’ 3fd TG el Ted 7

(i) eI (i) SId
(iii) SdEET (iv) foermm |
(@) FarRe’ 3lauesd foh Taiaug Termst Sgea ?
() FdHE= (i) Tererra=
(ifi) e (iv) - |
(at) wErq
AT gt g 3ag fagyi a=: |
TEATE, TR SOt sy fergrea: 117

52/1 12



[ UehUed 39d | 1
Teh 37 | 3w ST |

Answer in one word.

ST TN THI] Waiq 3fd ST = 3 ?

. YUiameRH 3T | 1

quiame § I difru|

Answer in a complete sentence.

oSy fosiva: &: Eong: 7

Il Sedfaeheus: 3faay S ferean foraa: 1x2=2
forhedt § & 3 ST g forfa

Choose and write correct answer from the given options.

(%) ‘o1@: 39 o7 ok U8 g ?

(i) e (ii) sfd
(iii) Taq (iv) qEAd |

(@) ‘wem:’ gf forroree fosrseg fom ?
() = (i) ferrwa:
(i) 3T=ER: (iv) &H: |

(3) e
etEm: - 3 Ty T W forgtia Wiy ST shehsl: hTehTTed:

FTATIOT SATFeAtfshad |

W— ﬁ'mmﬁﬂﬁgﬂ%ﬁ?waﬁﬁw,aﬁﬁ
MY O | HedH STHET FaHd W& FUhgeeg: ... |

Feh: - (vfowm Twrag)) om: Ty Ipadl wadi? Afe o
W:, afe sfitae g Eﬁ'{ﬂ:? %ﬂa@awaﬁ
Hige:? I I® g SAATRIIRI: | AT AT F
T e, Feerty oy = fafsrty |

52/1 13 [P.T.O.



[ UehUed 39d | 1
Teh 37 | 3w ST |

Answer in one word.

TR o faedfa = ?

. YUiameRH 3T | 1

ol et | I i

Answer in a complete sentence.
hTeh: LU G okl ol T- AT 7

Il Yedfasheus: 3faaq I fercan foraa: 1x2=2
fau e forehedt o @ 3o 3w g foafau -

Choose and write the correct answer from the given options :

() ‘3T€ q SAdiaehdeaqE:’ 31 37y 3id TaTHIE el

ERERL
(i) TSEE™ (ii) M
(iii) (iv) IgIa™ |
(@) ‘werafa’ 3fa foramaees sque foryg 2ifea ?
(i) TsrEdt (i) TSTed:
(iii) =Teh: (iv) o7 |
12. AfciRgderea: agfad 96 fashedss: e forea: 1x2=2

Freafctitad gt el o1 TR Wd foehedl | | TR ToffaT -
Choose and write the correct gist of the following two sentences from
the given options :
(%) ‘“Had dshad TREdTH: Hra: |
(i) HHR WA FTet: =I5k T ST |
(i) Tet: =wrhy 39 et frsfier: o1fed |
(iii) TSA: TTHUT TE TS |

52/1 14




(@) ‘efruer awfor: &y |
() &dur 3TUE: Rt 39 WAl |
(i) oot T 1 et v & errenta |

(iii) FAT NFTEERIT SH: IR T Td Sheleid SH1: ATIGH:
= |

13.  Houd: T e foean steifafaavaigaed oFad Ta: 1x4=4
o1 § & THfod ug ARt FefetRad St Teilehi o S+ sl U1 ShITTT :
Complete the prose order of the following two shlokas by choosing the

appropriate words given in the box :
I e gHYET aTe TN ASTYEIR |
RS el U Eadsus fomeet: 117
Fad: - I aE OdEl TN (AT) AR |
(@) U9d Bl IS 39 Bl S |
IRy e dTd | e 1ot |
EUE YA ANy i 1)
IET: - TH + AU AT o e A
IENEGE T T YA |

T
m’:@‘i, ﬁ%ﬁ” TU\T’ “ﬁml

14. @RI AT TAHTO $Hed | 1x5=5
{@TleRd 9&T o STIR W e Fmfor Sifsu|
Frame the questions on the basis of the underlined words :
() PRSI &5 FH Feal U: GTH AfSiae |
(i)  TRUTHAR] TS ST A |

52/1 15 [P.T.O.



15.

16.
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(ili)  ecat STeRT HIHT: Aol |
(iv)  RNOMT S=: I3 g4 |
(v) 99T Ak IR T YT |

ARG HATRATIARY i -
freafefiaa arerti st TeTshn & gEr fafa -
Write the following sentences in their sequential order.

()  ‘wferon U= &: waq 3t fafeeca o foame: wata

(i)  Ig: TR d Ffctean Maaft < = et |
(i) @ 7Ly foare: wafd|

(iv) §d TIRE Faf |

(v)  G: hieh eI HIAN |

(vi) dd I Tk qfeqor: 1Y a wfawrf |

(vil) ToRET USTed: hTehed Eaf el Hiva: Wald |
(viii) =hTh: AU FHiud: wafd |

@rEqueH JewTgary 31 o fowal
@ifehd Uet % JETER 21¢f e fafau)
Choose and write the contextual meanings of the underlined words.
(%) ‘o1 | wuy 36 Fged et fafear: 33 |
(i) hedAH
(ii) HT&YEF@W ey,
(iii) Gt s |
(@) ‘gedhs: T 9 Tehe wawm S1feqad |
(i) TR -
(ii) oAl Fedl
(iii) Terered ferean |
(M) IO TS T =ik T |
@ s
(i) o
(iil) & |

16

Yy 8=4

1x3=3



